SEWMEFHMRE  $25% 1989

WINTER (NH) u (50 N
120E 150 180 150KW 120K 90W

500 500

1000 1000

120E 150Kk 180 150W 120W 90W
CONTOUR INTERVAL = 1.0 CM/S

3.4.65 AFIBITLHMEHREARS (U) ORTRESMA (50°N)

WINTER (NH) U (40 N
120E 1SOE_ 180 150W  120W  9OW

o

500 500

1000 1009

120E 1S0E 180 1SOW 120K 90K
CONTOUR INTERVAL = 1.0 CM/S

X 3.4.66 AFIBIFAHBMEREWERS (U) OEBERESA (40°N)
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SEHRAERRE $25% 1989

WINTER (NH) U (30 N
120E | ISOE, 180 _  1S0W  120W  90OW

500

1000

120E 150E 180 150W 120K 90KW
CONTOUR INTERVAL = 1.0 CM/S

3.4.67 XRFIBTAHBEHREAERS (U) OERFRIESA (30°N)

WINTER (NH) U (20 N
120E 150E 180 150W 120K 90K

0 \SAZ 0

500

1000

H
249

1 20E ISOE 180 150W 1 20W 30N
CONTOUR INTERVAL = 1.0 CM/S .

3.4.68 AZF|IBTHMBEHERBES (U) OEFEHSA (20°N)
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SEMERTEMBE  H25F 1989

WINTER (NH) u (10 N
_120E 150E 180 150K 120K 90KW
U R e e W e e tRr it

N ATA =T g O

500+ 500

1000 1000

120E 150E 180 150W 120”1 90“
CONTOUR INTERVAL = 1.0 CM/S

' 3.4.69 AFTIIBITHHEHETERS U) OREBWESA (10°N)

WINTER (NH) u S N)
120E  150E 180 150K 120W 90NW

50

100

120€ 150E 180 150K 1200 90W
CONTAUR INTERVAL = 1.0 CM/S

3.4.70 AFIZBTHMEHETS (U) OREREI M (5°N)
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KEMEFBMEE H25%5 1989

SUMMER (SH) u (1o 35
120E 150E 18 ISON 12ON 90W

500K 500

1000 {Uf 1000

1206 1SOE 180 150W 120  9ONW
CONTAUR INTERVAL = 1.0 CM/S

& 3.4.71 BEZF (BB 2B EHEERS U) OEBEWESA (10°S)

SUMMER (SH ) U (20 $)
120 1SOE_, 180, ISOW , 120W_, 90W

04— =)

500+ 500

1000+ 1000

"I20E  1S0E 180 150N 120W 90N
CONTOUR INTERVAL = 1.0 CM/S

3.4.72 HZF (B¥IK) (2B 5 HEWEERS (U) OREHESA (20°S)
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TEHAFHAHRE  $255 1989

SUMMER (SH) U (30 $)
120 I1SOE_ 180 150W

Y

_120W . 90W

500

10001 §

O.E .....
CONTOUR INTERVAL = 1.0 CM/S

T120

B 3.4.73 EZF (BEIR) OB HHERERERS (U) OREWESA (30°S)

SUMMER (SH) U (40 S)
_ISOE_ 180 ISOW_ 120W  9OW.

lg

120k
O'WL I

500 500

1000

120 1S0E 180 ISOW | 120N 90N
CONTOUR INTERVAL = 1.0 CM/S

X 3.4.74 EZF (BF¥E) B ERERRS U) OEERESA (40°S)
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K[EWMEFHA RS $25% 1989

SUMMER (SH) U (50 S
1206 1S0E 180 . 1S0W_ 120W , 9OW,

w )

1000+

000

1206 150 180 150W  120W
CONTBUR INTERVAL = 1.0 CM/S

X 3.4.75 BEZF (FEI) BT ABEREERS (U) ORBEKESA (50°S)

SUMMER (SH) U (80 S)
120, 1SOE. 180 .  150W  120W  90W.

i iy

T

r500

1000+

120E 1SOE 180 1SOW  120W  QOW
CONTOUR INTERVAL = 1.0 CM/S

M 3.4.76 BEF (B BT hEHEmERSs U) OREMES A (60°S)
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